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QUESTION 1

What is wrong with the collaboration occurrence shown in the exhibit? 

A. The keywords are missing. 

B. The keyword is missing. 

C. Client and Server role names should be underlined. 

D. The collaboration occurrence name should be underlined. 

E. Role bindings should be represented by dashed lines. 

Correct Answer: E 

 

QUESTION 2

Which statements are true about OCL? (Choose three) 

A. OCL is a programming and procedural language. 

B. OCL is a procedural language. 

C. OCL is a programming language. 

D. OCL is a typed language. 

E. OCL is a specification language. 

F. OCL is a query language. 

Correct Answer: DEF 

 

QUESTION 3

OCL expressions may NOT contain which special character or character combinations? 

A. @ 

B. .. 

C. . 
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D. >= 

E. ~ 

F. -> 

Correct Answer: E 

 

QUESTION 4

What is true of bound classes? (Choose two) 

A. can have properties in addition to the ones from the class it is binding 

B. is a class that is bound by association with another class to be used in a specific context 

C. can be used as the superclass of another class 

D. is a class that is used as an lower or upper bound of interval specifications 

E. can only have one binding 

Correct Answer: AC 

 

QUESTION 5

If a data store node has three values and one moves across an outgoing edge, how many are left? 

A. two 

B. one 

C. three 

D. none 

Correct Answer: C 

Latest OMG-OCUP-300
Dumps

OMG-OCUP-300 Study
Guide

OMG-OCUP-300 Exam
Questions

Powered by TCPDF (www.tcpdf.org)

Latest OMG-OCUP-300 Dumps | OMG-OCUP-300 Study Guide | OMG-OCUP-300 Exam Questions                               3 / 3

https://www.geekcert.com/omg-ocup-300.html
https://www.geekcert.com/omg-ocup-300.html
https://www.geekcert.com/omg-ocup-300.html
https://www.geekcert.com/omg-ocup-300.html
https://www.geekcert.com/omg-ocup-300.html
https://www.geekcert.com/omg-ocup-300.html
http://www.tcpdf.org
https://www.geekcert.com/omg-ocup-300.html
https://www.geekcert.com/omg-ocup-300.html
https://www.geekcert.com/omg-ocup-300.html

